
 Installation Guide
TTS-BASE-L

premiermounts.com  |  p. 800.368.9700  |  e. orders@premiermounts.com
500 W Central Ave, Suite A, Brea, CA 92821 USA



1B1A

2 3

Included components

TTS-BASE-L
Installation Guide

x7

x1 x7 x7

x1x1

x5 x2 x2

M6 x 16mm Truss 
Screw

M4 Allen Key Adhesive Bumper Vinyl Feet 

Aluminum Tube 
Base

Top Stand Base

M5 x 30mm Flat 
Screw

M8 x 10mm Set 
Screw

#10 x 1 3/4” Flat 
Wood Screws

(7) M6 x 16 mm Truss Screw
(7) Adhesive Bumper

(2) M8 x 10 mm Soc Set

(5) M5 x 30 mm Flat Screw

(7) Vinyl Feet

(1) Top Stand Base

(1) Aluminum Tube Base

Page 2

Maximum Weight: 
150 lbs. 

Flip the Top Stand Base over and install the seven (7) Vinyl Feet 
using seven (7) M6 x 16 mm Truss screws. 

Flip the Top Stand Base over and install the seven (7) Adhesive 
Bumpers.

T40 Installation
1)  Install the T40 (not supplied) into the Aluminum base tube.
2)  Secure the T40 using the two (2) M8 x 10 mm Set Screws.
     Tighten the M8 x 10 mm  set screws using a 5/32 or M4 Allen 
     Key. 

(1) T40

OR

Parts list  (2) 

Thread depth 
indicator (1) 

M5 x 10 Phillips 
screws (2) 

M5 x 30 Phillips flat 
head screws (5) 

Wood screws (2) 
  (Optional use) 

Rubber vinyl (4) 

Rubber feet (4) 
(used on the PSD-TTS only) 

M6 Phillips 
screws (4) 

premiermounts.com  |  p. 800.368.9700  |  e. orders@premiermounts.com



4

6

5

(1) UFA

(4) M8 x 10 Set Screws

(2) #10 x 1 3/4” Wood 
Screws

Wood Table

TTS-BASE-L
Installation Guide

Page 3

UFA Installation
1)  Install the UFA (not supplied) to the Display.
2)  Refer to the UFA installation to install the Brackets to the 
     Display. 1)  Align the UFA and T40 and slide down the display to the 

     desired height.
2)  Tighten the four (4) M8 x 10 Set Screws using a M4 or 5/32” 
     Allen Key. The four (4) M8 x 10 Set Screws are preinstalled 

Fixed Installation (Optional)
If securing to a wood table, secure the stand with the two (2) #10 x 1 3/4" 
wood screws (supplied).
NOTE: Longer or shorter wood screws and or mounting hardware 
depending on your installation environment are (commercially available).

premiermounts.com  |  p. 800.368.9700  |  e. orders@premiermounts.com



Premier Mounts intends to make this manual accurate and complete. However, Premier Mounts makes no claim that the information 
contained herein covers all details, conditions or variations, nor does it provide for every possible contingency in connection with 
the installation or use of this product. The information contained in this document is subject to change without notice or obligation of 
any kind. Premier Mounts makes no representation of warranty, expressed or implied, regarding the information contained herein. 

PREMIER MOUNTS
LIMITED LIFETIME WARRANTY

What and Who is Covered by this Limited Lifetime Warranty
Premier Mounts warrants all mounting products to be free from defects in material and workmanship 
for the lifetime of the original installation of the product.
What Premier Mounts Will Do
At the sole option of Premier Mounts, Premier Mounts will repair or replace any product or product 
part that is defective. If Premier Mounts chooses to replace a defective product or part, a replacement 
product or part will be shipped to you at no charge, but you must pay any related labor costs.
What is Not Covered: Limitations
Premier Mounts disclaims any liability for damage to mounts, adapters, displays, projectors, other 

or misuse of its products.
NOTWITHSTANDING ANYTHING TO THE CONTRARY IN THIS WARRANTY, THIS WARRANTY 
IS LIMITED TO FIVE YEARS FROM THE DATE OF PURCHASE IN THE EVENT THAT THE WAR-
RANTED PRODUCT IS COMMERCIALLY RENTED OUT.

and related electrical items, are backed by a 3-year warranty.
Premier Mounts disclaims all other warranties, express or implied, including warranties of merchant-

-
quential damages, including but not limited to, inability to use its products or labor costs for remov-
ing and replacing defective products or parts. Some states do not allow the exclusion or limitation of 
incidental or consequential damages, so the above limitation or exclusion may not apply to you.
What Customers Must Do for Warranty Service
If you discover a problem that you think may be covered by the warranty, you must report it in writ-
ing to the address below within thirty (30) days. Proof of purchase (an original sales receipt) from the 
original consumer purchaser must accompany all warranty claims. Warranty claims must also include 
a description of the problem, the purchaser’s name, address, and telephone number. General inqui-
ries can be addressed to Premier Mounts Customer Service at 1-800-368-9700. Warranty claims will 
not be accepted over the phone or by fax.

How State Law Applies

state to state. 

Page 4 9500112_0

PREMIER MOUNTS
500 W Central Ave, Suite A
Brea, CA 92821

USA & CANADA 
Phone: 800-368-9700
Fax: 800-832-4888

©

e. orders@premiermounts.com

PREMIER MOUNTS
ATTN: Warrenty Claims
500 W Central Ave, Suite A
Brea, CA 92821


